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(x)  Pepeiet BT IGINT didd 2 /
WUE &
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1. Sn*/Sn2" I &1 O T v + 0.15 V 3R Codt/Cram  fw - 0.73 v &
ST ST T T SIS Uh S ETeh Tl SHIAT 7T | (ST AT ToRar T Serfda
Bt 2 | Tt forvra gnm
(A)  +088V
(B) +058V
(C) -088V
(D) -058V
2. FrfaRad o & gaties S g5 2

(A)  [Pt(NH3),Cl,]

(B)  [Ag(NH3),]Cl
(C)  [Pt(en),Cl,]>"

(D) K4 [Fe(CN)e]
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General Instructions :

Read the following instructions carefully and follow them :

(i)
(i)
(iii)
(iv)
)
vi)
(vii)
(viii)

(ix)
%)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A — questions number 1 to 16 are multiple choice type questions. Each question
carries 1 mark.

Section B — questions number 17 to 21 are very short answer type questions. Each
question carries 2 marks.

Section C — questions number 22 to 28 are short answer type questions. Each question
carries 3 marks.

Section D — questions number 29 and 30 are case-based questions. Each question
carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions. Each question
carries 5 marks.

There is no overall choice given in the question paper. However, an internal choice has
been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired candidates.
Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark each. 16x1=16

1.

The standard electrode potential for Sn**/Sn?" couple is + 0.15 V and for Cr3*/Cr
couple is — 0.73 V. These two couples are connected to make an electrochemical

cell. The redox reaction is spontaneous. The cell potential will be :

(A) +088V
(B) +058V
(C) -088V
(D) -058V

The most stable complex among the following is :
(A)  [Pt(NH3),Clp]

(B)  [Ag(NH3),]Cl

(C)  [Pt(en),Cl,]%>"

(D) K4 [Fe(CN)g]

collegedunias
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3. TioheT o STaFeehia e [Ni(CN), ]2 i Sl & :
(A)  =eThT
(B)  ITCHARIT
(C) ot gHdA
(D) fod STCHRAHA
4. Fe2t, Co2t, Cr3t, Ni2t ﬁﬁﬁﬂﬁﬂw ETELUf I ATATR :
(A) Fe2"
(B) Co?"
(©) Cc3t
(D) Niz"
[ORHTY] 5RHT : Cr = 24, Fe = 26, Co = 27, Ni = 28]
5. g UHIAT sl e STareer H 39 9gd T &Tehid AHe o STTHI sgafeurd foram i,
IR R R
(A)  NHj3 < CH3NH, < (CH3)3N < (CH3),NH
(B)  NHj < (CH3);NH < (CH3)3N < CH3NH,
(C)  (CHj3)3N < (CH3),NH < CH3NH, < NH3
(D)  NH; < CH3NH, < (CH3),NH < (CH3)3;N

6. frafafiaa § @ H9-ar Ueicd do9 78 g 2

(A)
(B)
©
(D)

56/5/1

CH;CHO
CH;COCHj
CH;CH,CHO
CgHsCHO
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The geometry of diamagnetic nickel complex [Ni(CN)4]2’ 1S :
(A)  Tetrahedral

(B)  Octahedral

(C)  Square planar

(D) Distorted octahedral

Out of Fe2™, Co2", Cr3*, Ni2*, the one which shows highest magnetic moment

1S :

(A) Fe2"
(B) Co?"
©) cBt
(D) Niz"

[Atomic number : Cr =24, Fe =26, Co =27, Ni= 28]

If amines are arranged in increasing order of their basic strength in gaseous phase,

then the correct order will be :

(A) NHj3 < CH3NH; < (CHj3)3N <(CH3);NH
(B) NHj3 < (CH3),NH < (CH3)3N < CH3NH,
(C)  (CH3)3N <(CHj3),NH < CH3NH; < NHj3

(D)  NHj3 < CH3NH, < (CH3),NH < (CH3)3N

Which of the following does not undergo Aldol condensation ?
(A) CH3CHO

(B) CH3COCH;

(©) CH3CH,CHO

(D) CgH5CHO

56/5/1 5 P.T.O.
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7. (CH3)3 C — CH,Br 1 €&l A3 M CH. A9 ;
(A)  2,2-STEAA-2 ST
(B)  1-51H1-2,2 2 -2TgAfRRTudT
(C)  2-3MEN-1,1,1-2TSuTeues
(D)  1-5H1-2,2-STHTreToT

8. forre it yaerar ot fom oah, fmfeiltad § 9 forees 510 S=aa™ Sus St Sfard
! STt 2

(A)  [Co(H0)e]*"
(B)  [Co(NH3)e]3"
(C)  [Co(CN)g]?~

(D)  [CoClg]?~

9. et Tl safufshar A — B o fofu, =g Sfera foam o {6 5ie A &t gigar o =)
T foram T, At SR s T B T | AR R e R

A) 2
B) 1
©) 12
D) A

10.  €FA [Co(NH3)5(NO,)]Cl, T AE LM CH. A9 2 :

(A)  U=TUEHATSEEE-O-FiaTee (1) FASS

(B)  UUFHHATEZTSI-N-shiaee(11]) FANIEs
(C) U=TUFHHATSEI-shiaTee(11]) FARES
(D)  UFHHATEZIE-hlaTee(11) FANEE
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7. The correct IUPAC name of (CH3); C — CH,Bris :
(A)  2,2-Dimethyl-2-bromopropane
(B)  1-Bromo-2,2,2-trimethylethane
(C)  2-Bromo-1,1,1-trimethylethane

(D)  1-Bromo-2,2-dimethylpropane

8. Considering the strength of the ligand, the highest excitation energy will be
observed in :

(A)  [Co(Hy0)6]*"
(B)  [Co(NH3)s]*"
(©)  [Co(CN)eI*~
(D) [CoClg]3

9. For a chemical reaction, A —> B, it was observed that the rate of reaction doubles
when the concentration of A is increased four times. The order of the reaction is :

A) 2
B) 1
©) 12
(D)  Zero

10.  The IUPAC name of the complex [Co(NH3)5(NO»)]Cl, is :

(A) Pentaamminenitrito-O-cobalt(III) chloride
(B) Pentaamminenitrito-N-cobalt(III) chloride
(C) Pentaamminenitro-cobalt(Ill) chloride
(D) Pentaaminenitrito-cobalt(II) chloride
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TreAfreT SoR o fo=a & forw ferforermer deciwor 2 ue
(A)  SARFLE T
(B) Sy fufskan

(C)  SAFRFLEIT AT
(D) S\2 ArfsraT

12. o8 TER SEr S G SR Ul o st faved o fog s ot ST ahdt
3,3
(A) TAI®H glreror
(B) 3ot uiieror
(C) VSN {57k wiieror
(D) Teorent wderor

Uy7 @&IT 13 @ 16 & (70, 3T %97 30 70 § — G574 vk &1 19697 (A) T9aT
g &I FROT (R) FRT Sl @37 747 § | 37 9971 & @gl I 419 30 77 #1g)
(A), (B), (C) & (D) & & g iy |

(A) AR (A) 3T HRUT (R) gHT T& & 3N &R0 (R), Aheq (A)
8! IR T & |

(B) AN (A) 3R HRU (R) FI H&l &, T BRI (R), AR (A) i
&l AT TgT w1 § |

(C)  fihed (A) & &, W= RN (R) Terd & |
(D) IRRYE (A) T ], W SR (R) HEl R |
13.  3IHT (4) : W Ueh AT IR |

F (R) : WIS, ThiE ot 21 sohrgal § fAfia gian & Srew ueh e 3T
T C-1 o TohI¥ SIS o C-4 o | ST &l ¢ |

NHCOCH,

14. 379 (4) ;. Ut Y smen wEieferse ( @ ) A AT BT 2 |

PR (R) : Ut o e o ST ATS2 IS UX S Hcdl & &l SITaT © |
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11.  Williamson’s synthesis of preparing dimethyl ether is a/an :
(A) electrophilic substitution

(B) Sy reaction

(C)  electrophilic addition
(D) SN2 reaction

12.  The chemical test which can be used to distinguish between ethanamine and
aniline is :
(A) Haloform test
(B) Tollens’ test
(C) Azo dye test

(D) Hinsberg test

For Questions number 13 to 16, two statements are given — one labelled as Assertion
(A) and the other labelled as Reason (R). Select the correct answer to these questions
from the codes (A), (B), (C) and (D) as given below.
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

13.  Assertion (A) : Maltose is a reducing sugar.

Reason (R) : Maltose is composed of two glucose units in which C-1 of one

glucose unit is linked to C-4 of another glucose unit.

NHCOCH;
14.  Assertion (A) : Acetanilide ( @ ) is less basic than aniline.
Reason (R) : Acetylation of aniline results in decrease of electron density on

nitrogen.
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SAYFRIT (4) : A9 H Ffeg o TT AT Feoich o ST 2 |

HIT (R) : Toreft uaTel o qTomT H g ST WishAUT HST | STfR el U Hog
A T STULSAT Y T o T H G A 2 |

16. AUFHIT (4): Cul" ASEE TATRIR |

FR(R) : Cu?", I ! SAAEH H ATHIehd i ol Joidt T T@ar s |
LCRERC)
17. F=faRaa § aftmfoa st fafec [+1=2
@)  USH-EH AR
(@)  hlos ATTIHAT
18.  Tfafad weass stfufsran & forg qea ATt See o et sHTse 1+1=2

CH,CH; By, ST 372
(<P) /©/ = >
O.N QST JhIT

2

CH,
Q) ©/ + Hl ————

19.  Tordl a1et o7 ATdT STUEEH TUH Shife hi STRTsRaT & foreeht forelt ffa ama og o
feorieh 2.3x10-3 51 B | & 370t hl YRR G & dH-S1UTS o ATERA | o o

G T TRt T | (log 4 = 0.6021, log 2 = 0.301) 2
20. (%) TfaRea s fow wror e 1+1=2
(i)  CH3COCH; T 31981 HCN o @1 31ffshan o Ifd CH3CHO 31fe
srfufsramefiar 2 |

(i)  Ufceerset SR HIAT sht o H el T cTeh 37t et Farefl 59 2 |

YT
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16.

17.

18.

19.

20.

Assertion (A) : Rate constant increases with increase in temperature.

Reason (R) : Increasing the temperature of the substance increases the fraction
of molecules, which collide with energies greater than activation

energy.

Assertion (4) :  Cu?" iodide is not known.

Reason (R) : Cu?" has strong tendency to oxidise I to iodine.
SECTION B
Write the reaction involved in the following : 1+1=2

(a) Reimer-Tiemann reaction

(b)  Kolbe’s reaction

Draw the structures of major monohalo products in each of the following

reactions : 1+1=2

CHD_CHS Brz, heat or
(®) /©/ UV light
CH,
(b) ©/ +H ———

The thermal decomposition of an acid is a first order reaction with a rate constant
of 23x10-3 s~1 at a certain temperature. Calculate how long it will take for
three-fourths of the initial quantity of acid to decompose.

(log 4=0.6021, log2 =10.301) 2
(a) Account for the following : 1+1=2
(1) CH3CHO 1s more reactive than CH3COCH3 towards reaction with
HCN.
(i1))  Carboxylic acids are higher boiling liquids than aldehydes and
ketones.
OR

56/5/1 1 P.T.O.
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@) Frfafiad et o Aifieni o wer foie i & o e wdeo dive . 7+7=2
(i) IS IR I

A

(i)  SSfcSeTss 3 dsigeh 3TFd

21.  Tfaad o wrer wepehie sht sffsran fafaw 1+1=2
(%) HI
(@) B,
JCLER]

22. (%) HFA [Pt(NH3),Cly] o SATHAT GHEES SI15T |
@) 4 TR T SAF ek fo=me SraTEU ST A, > P 2 |

M [Ni(Hy0)s]?+ o foreta o1 7 80 @ Safeh [Ni(CN)4]2 T @ | FRoT €1 |
[IHTO] ShHTeh Ni = 28] 1+1+1=3

23. 50 cm™! WA ik A1A A H 0.05 M NaOH o o shiem w1 od gflig
45x103 ohm & | SHehT TTRIEIehdT, TeshdT a7 AT STeTehdT shl TRehald shifTy | 3

24. 100 gSTAH 4 g MgSO, (FIeR FoT9H = 120 g/mol) SIeieht 3 fIe o aaeieh 1
ST AEhToTd ShIFSTT, I8 A BT o MgSO,4 3T qUid: 7RI &1 T2 |
(ST % T Ky, = 0.52 K kg mol 1) 3

56/5/1 12 _
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(b)

Give chemical tests to distinguish between the following p

compounds :
(1) Propanal and Propanone

(11) Benzaldehyde and Benzoic acid

21.  Write the reaction of glucose with :

(a)
(b)

22.  (a)

(b)

(©)

HI

Br, water

SECTION C

Draw the geometrical isomers of the complex [Pt(NH3),Cl5].

Give the electronic configuration of d* ion when A > P.

air of
1+1=2

1+1=2

Solution of [Ni(H2O)6]‘2+ is green in colour whereas [Ni(CN)4]2_ is

colourless. Give reason. [Atomic number : Ni = 28]

1+1+1=3

23. The electrical resistance of a column of 0.05 M NaOH solution of cell constant

50 em~! is 4.5x103 ohm. Calculate its resistivity, conductivity and molar

conductivity.

24.  Calculate elevation of the boiling point of the solution when 4 g of MgSOy4

(molar mass = 120 g/mol) was dissolved in 100 g of water, assuming MgSOy4

undergoes complete ionisation. (Ky, for water = 0.52 K kg mol~1)

56/5/1
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26.

27.

28.

FrfoTRad o fore ST S 1+1+1=3
(F) FASISI HT (58 ST HZHATS R FARTES shl T H A BT S |

@) e tage @ § Al e e |

(M - SIS I o1 H T Ih-(A FHTEE T FAUATH R ST € |

FIT BT & 5 ; (IS A1) 3x1=3

MgBr
() O/ = CHyCHO @1l STMTshRId T o qverd STef-37ere foha

STaT R |

(@) $HE 1 "iE (HNO3 + HySO,) & a1 s1fferfra feram Siran 2 |
(M) FSiei AICI, 3 Iureertd # Y@ sl CH,COCI o |1 SAMfRRIa foram ST
2l

() 573 K9 Cu & G1 I1UF-2-317ed ol T fhar ST g |

frefafaa & fore fvaea smen i [+1+1=3
() TR Ui & STEUSIT-Ee oTavT Tl €1 € |

@) e hied-shraey sTffsrar yefia 7 s |

(M el TSRt gRT TS AT H BT SedTg Set ¢ |

et Tramaies STMTfshaT SR Fohid T STeT-3Tqee i1 & :

C12H)y01 1 + HyO (STferer) _H, CeH1206 + CsH1206

Iuh AR o STUR W, fafe [+1+1=3
@) A frm gt

@)  AfufsraT i smfvaehar qerm sife

(M) 19 Ut SATITRTSTY it T hEd & 2
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Account for the following : 1+1+1=3

(@) The dipole moment of chlorobenzene is lower than that of
cyclohexylchloride.

(b)  Alkyl halides are immiscible in water.

(c) t-butyl bromide has lower boiling point than n-butyl bromide.

26.  What happens when : (any three) IxI=3

MgBr
(a) O/ is treated with CH;CHO followed by hydrolysis.

(b)  Phenol is treated with conc. (HNO3 + H>SOy).
(¢)  Anisole is treated with CH3COCI in the presence of anhydrous AlCl5.

(d)  Propan-2-ol is heated with Cu at 573 K.

27.  Give plausible explanation for the following : 1+1+1=3

(a) Diazonium salts of aromatic amines are stable.
(b)  Aniline does not undergo Friedel-Crafts reaction.

(c)  Aniline on nitration gives a substantial amount of meta product.

28.  Hydrolysis of sucrose takes place by the chemical reaction :

+
H
C12H27011 + HyO (excess) —> CgH120g + CeH 204
Based on the above reaction, write : 1+1+1=3
(a) Rate law equation
(b) Molecularity and order of reaction

(c)  What do you call such reactions ?

56/5/1 15 P.T.O.
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feLele)
FHfcTRaa 54 6 -39 54 € | 9 &1 SIYa 91T R 16T 78 741 & I a1 |

29.  SRITTERT o AT H IR o 0T SIT SATTSRTRAT o foTT TG BN &, TOTE et
T 1 3 I U Tk 3 TR o STV =fereieh STrel | fiereRt o1 81 © | 3 e @
T % BId 8, DNA 3T RNA | Jeefish el o Sol-ST08H ¥ Teh U=2Id TTehl,
TREHITh TR AT ATSZISH Jo [osH=Ishi ANk ST 81 & | =Ieeiish TRl o g
TRt 1§, ST SRITTehT Seafd, ST RIeh FoT T o U9 HHTe, T HYeryor o
Sl HIRTERTSAT T IS | T 3Tk Tohrd o1 &1 Tkl & AU hae F© Joud
3ATTUaeh TTaT H 31T % €1 RNA 3T DNA 3 §taTE hihl 33 S0 2 2 |

S =T o TR W, et St o S i

(%) DNA & 2l ¥ feiflay | I
(@) 1 IcdTe HIHA 8, ST U o DNA 8 W [FASAIIES T SoA-3T0He
[ERIEICIEN 1
(M () el T FATEIG 8 2 FfFsTlergs AN FfTsTamss | .1 FaT e ? 2
arora
(M) (i) DNA 3 RNA & i<l Ush THMAT 3R Uah 3w AT | 2

30. TR foerHT | U oreH! H USee frm | famrel s sier it T W
SRR T Tohfd 7 Rera 7 | Taera — foemes, faoia — foo o foaemres —
foretmeres o offr sraarfsranatl  iat o RT3 Tore TR frm @ foare awia § |
F© 79 i T o feomaanet s & S uw fgmeshi fsr €, SeeRt 59 9 Ay
T | HeST T BT € G I8 Teh TR a19 X Ia9eTd & | U Wehtunl H, Seahi ol
TS STEE SR STERT et foham ST wehar | feoraamelt & worr o &1 8, fe8 =aw
FAYThT Feereramelt qerm STftrhad FaumTeh fergaret wed 2 |
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SECTION D

The following questions are case-based questions. Read the case carefully and answer

the questions that follow.

29.  The particles in the nucleus of the cell, responsible for heredity, are called
chromosomes which are made up of proteins and another type of biomolecules
called nucleic acids. These are mainly of two types, DNA and RNA. Nucleic acids
on hydrolysis yield a pentose sugar, phosphoric acid and nitrogen containing
heterocyclic compound. Nucleic acids have a very diverse set of functions, such
as cell creation, the storage and processing of genetic information, protein
synthesis and the generation of energy cells. Although their functions may differ,
the structure of DNA and RNA are very similar, with only a few fundamental

differences in their molecular make-up.

Based on the above information, answer the following questions :

(a)  Write two functions of DNA. 1
(b)  What products will be formed when a nucleotide from DNA containing
Adenine is hydrolyzed ? 1
(¢c) (1) What are nucleic acids ? What is the difference between nucleotide
and nucleoside ? 2
OR
(c) (i1) Give one similarity and one difference between DNA and RNA. 2

30.  The cause for deviation from Raoult’s law in the colligative properties of non-ideal
solutions lie in the nature of interactions at the molecular level. These properties
show deviations from Raoult’s law due to difference in interactions between
solute — solvent, solute — solute and solvent — solvent. Some liquids on mixing,
form azeotropes which are binary mixtures having the same composition in liquid
and vapour phase and boil at a constant temperature. In such cases, it is not
possible to separate the components by fractional distillation. There are two types

of azeotropes called minimum boiling azeotrope and maximum boiling azeotrope.

56/5/1 17 P.T.O.
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SUYh AT o ATIR I, AR TeT o Ie diferg

(k)

@)

(M

(M

31. ol uier weat & S AT

(h)
@)

)

(%)

()
()
®)

56/5/1

QTS — STeT o7 oh TTSf STTee g0 318 UeHTet forferd T fora Sit geha |
feuoft s |

FATURE T WEe a1 fiysror 311esf sraer 4 o =i qeriar 2 2

()  Tordll M3 a9 W grg SIS T AT e 1.25 atm @ | ST 60 g St
(M = 78 g mol 1) # forelt Staroaeiied, forera suered foci@r 6 1.2 g 1
forcmen STar 2, o fore™e o 99 @« 1,237 atm 1 ST © | AR

fIT AT e 59| iehfed ShIfTT |

AT

(i)  SI=sfiF 3T FUATF 353.23 K © | 1.80 g 3TaTiie faeir &l 90 g S
e W et T FauHiE dgad 354.11 K 81 3T & | foeia & dier
ST T TTehet ShITSTT | siwsiF 3 foTT Ky, 3T H1H 2.53 K kg mol ™! ® |

Qs s

Cu™ STt foretam o aremft 2 | feugoft sfifsiw )
Cr2t 3 Fe2t § © oh-9T Telcldd SI=eh & 3T 1 ?

AR 3Tee shi T § Ueh el § UL el oh sftel YRS 3TTee 3Tersh
BT | T2

AT W H KMnO, 3Tadiehies sl wifd & shiaT € | 39 g o
ITrarfeR TR fef |

ST AT A0f T SH-ET T g +1 SRR ST J9Iidt 8 2
HERAUT ST ST 37k TR 375 IoR 81 & | Sifeea i |
Thi-ea| TS T AT =T o7, TRT oft 38 Gehmur e AT SITaT © | 3R 2
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Based on the above passage, answer the following questions :

(a)  Pure ethanol cannot be prepared by fractional distillation of ethanol — water
mixture. Comment. 1

(b)  Why does a mixture of chloroform and acetone show deviation from ideal
behaviour ? 1

(¢c) (1) The vapour pressure of pure benzene at a certain temperature is

1.25 atm. When 1.2 g of non-volatile, non-electrolyte solute is added

to 60 g of benzene (M = 78 g mol™!), the vapour pressure of the

solution becomes 1.237 atm. Calculate the molar mass of the

non-volatile solute. 2
OR

(c) (i1)) The boiling point of benzene is 353.23 K. When 1.80 g of a
non-volatile solute was dissolved in 90 g of benzene, the boiling point
is raised to 354.11 K. Calculate the molar mass of the solute. K, for

benzene is 2.53 K kg mol 1. 2

SECTION E
31. Attempt any five of the following : SXI1=5

(a) Cu" is not stable in aqueous solution. Comment.

(b)  Outof Cr?2™ and Fe2", which one is a stronger reducing agent and why ?

(c) Actinoid contraction is greater from element to element than lanthanoid
contraction. Why ?

(d) KMnOy4 acts as an oxidising agent in acidic medium. Write the ionic

equation to support this.

(¢) Name the metal in the first transition series which exhibits +1 oxidation

state most frequently.
(f)  Transition metals and their compounds are good catalysts. Justify.

(g) Scandium forms no coloured ions, yet it is regarded as a transition element.
Why ?
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(i)

(ii)

(i)

T @9k Siedl for Tohr hl Sl § 2 UATS 9T shelle AMIRITT 3T
gAY 3ffsRa feafan St H T S st & S ot STt 2 |

AgNO; T # 8 1.5 A &l 9T Ya1iRd i T hefle W 1.5 g Ffar
Freafua o 5 o ITel ST AT Uieha shIfTT |

[Ag 3T AR S| = 108 g mol 1, 1 F = 96500 C mol!]
aroraT

AT o TAA STTITHA T IO 0 fafaw | 298 K T NH,Cl,
NaOH 3R NaCl foetaqi sl Fd a1 9 HIeR ATelehd, shHST: 110,
100 3 105 S cm2 mol~! & | NH,OH == I HieR =methar
qfERfoTd i |

25°C R FAfafad @a & forg AGe aferfaa Fifse

Zn (s) | Zn?"(aq) || Cu* (aq) | Cu (s)

ICCIRIC I E) o, ==076V

o

E
Cu2+ /Cu

1 F =96500 C mol!

T THRToT T TETIdT | SATEAT I e :

()  VHIEH = Grfishratsige & Ty ARfria fram Smar 2 |

(I)  S=ifceaTse o a1 STUSHT b |5 NaOH o |1 AW fopa
ST g |

(1) SLH-2-3TH 3l Zn/Hg R iz HCI o 8rer AIHRIa foram st
g

FATTREd ot 3ok ST T o TQd §U A § SAANCAT HITSIT :

(I) CH;CH,CH,COOH, BrCH,CH,CH,COOH,
CH;CHBrCH,COOH, CH3CH,CHBrCOOH

(1) oSIgHh T, 4-HYTadiasiigeh T, 4-TS2ia-sligeh 3Tk,
3,4-@|s¢us§|ara'. Igoh 3T+

YT

=+034V
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(b)
33. (a)
56/5/1

(ii)

(i)

(ii)

(1)

(ii)

What type of battery is the lead storage battery ? Write the anode and

the cathode reactions and the overall reaction occurring in a lead

storage battery when current is drawn from it. 3

Calculate the time to deposit 1.5 g of silver at cathode when a current
of 1.5 A was passed through the solution of AgNOj3.

[Molar mass of Ag =108 g mol~!, 1 F=96500 C mol!] 2

OR

State Kohlrausch’s law of independent migration of ions. Molar
conductivity at infinite dilution for NH4CIl, NaOH and NaCl solution
at 298 K are 110, 100 and 105 S cm? mol ! respectively. Calculate
the molar conductivity of NH4OH solution. 3

Calulate AG® of the following cell at 25°C :
Zn (s) | Zn**(aq) || Cu?* (aq) | Cu (s)
Given: E° 2+ =—0.76 V

/n

/Zn
o)

E
Cu2+/Cu

1 F=96500 C mol™!

=+034V

Explain with the help of chemical reaction when : 3

@

Acetone is treated with semicarbazide.

(I) Two molecules of benzaldehyde are treated with conc. NaOH.

(IIT) Butan-2-one is treated with Zn/Hg and conc. HCI.

Arrange the following in the increasing order of their acidic

strength : 2

W)

(1D

CH;CH,CH,COOH, BrCH,CH,CH,COOH,

CH;CHBrCH,COOH, CH3CH,CHBrCOOH

Benzoic acid, 4-Methoxybenzoic acid, 4-Nitrobenzoic acid,

3.,4-Dinitrobenzoic acid

OR
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@) () TefRaa stfafsrar sgsa d A, B, C 3R D Sl i gar hifsg: 2

[0] PCl
CH;CHO > A > B

l(CH3)2Cd

/n — H
g C

% HCl
() 3 FfaRad 9o = fore TR du= T 2 3x1=3
ORI CIE R B IRIE)

() SIS 3T U Aol ogeTse

(1) TIA & F-2-3A
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(b)) (@) Identify the products A, B, C and D in the following sequence of

reactions : 2
O PCl1
CH;CHO o], >
l(CH3)2Cd
Zn — Hg
" Cone. HCI
(11) How will you bring about the following conversions ? Ix1=3

D Propanone to Propene
(I)  Benzoic acid to Benzaldehyde
(ITII)  Ethanal to But-2-enal
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